| N of associated (recoToSim) tracks vs normalized x? |

[N of reco track vs normalized x2 ]

track x?

berset

SRR

5

o
N
0
—
©
—
<
—
N
—
i (=}
—
=100
-1©
=
=N
< rd
o ]
— [=}
syoes ared||dnp
32
N <
oo
— O
s
Jo =
—
B
—
I oV}
—
-Jo
—
=10
-1©
-
=N
{=]
SN ) © syoel axye}
02
4 H Ny
.e .J0 x
— O
g
.. Jo &
—
- 1
o
~ PO
- - s}
— ]
.- -Jo |&
— o |
L O
1®° E E
ES
-1©o =X=3
==
Je EEZ
=N
o
syoel ann ° syoel ani
02
NS
oo x
— O
S
Jo s
—
s
—
I [oV}
—
-Jo
—
=10
-1© .
2
d< x
g
-{y .nnv.
3
2
T P
> 5
° z

syoen



	Contents
	Page 1


